LONG-TIME ASYMPTOTICS FOR THE NONLOCAL KUNDU–NONLINEAR-SCHRÖDINGER EQUATION BY THE NONLINEAR STEEPEST DESCENT METHOD

Jian Li,^{*} Tiecheng Xia,^{*} and Handong Guo[†]

We study the long-time asymptotics of the nonlocal Kundu–nonlinear-Schrödinger equation with a decaying initial value. The long-time asymptotics of the solution follow from the nonlinear steepest descent method proposed by Deift–Zhou and the Riemann–Hilbert method.

Keywords: long-time asymptotics, nonlocal Kundu–nonlinear-Schrödinger equation, nonlinear steepest descent method, Riemann–Hilbert method

DOI: 10.1134/S0040577922120054

1. Introduction

As is well known, the parity and time (PT) symmetry is one of the most important symmetries in quantum theory. In 1998, Bender and Boettcher [1] obtained the PT symmetry by replacing the Hermiticity of Hamiltonians in quantum theory and showed that most basic quantum properties are preserved for PT-symmetric Hamiltonians. Subsequently, researchers also applied PT symmetry to optics, electricity, and so on [2]–[8]. Ablowitz proposed the nonlocal nonlinear Schrödinger equation in 2013 [9], and a large number of models of nonlocal integrable systems have been proposed and studied since then [10]–[14].

In this paper, we consider the coupled Kundu–nonlinear-Schrödinger (Kundu–NLS) equations [15]

$$iq_t + q_{xx} + 2\alpha e^{i(\theta-\phi)}q^2r - (\theta_t + \theta_x^2 - i\theta_{xx})q + 2i\theta_x q_x = 0,$$

$$-ir_t + r_{xx} + 2\alpha e^{-i(\phi-\theta)}r^2q - (\phi_t + \phi_x^2 + i\phi_{xx})r - 2i\phi_x r_x = 0,$$
(1.1)

where $\theta(x,t)$, $\phi(x,t)$ are arbitrary gauge functions. The Lax pair of Eqs. (1.1) can be written as

$$v_x = Mv = (-i\lambda\sigma_3 + \sqrt{\alpha}U_0)v,$$

$$v_t = Nv = (-2i\lambda^2\sigma_3 + 2\sqrt{\alpha}\lambda U_0 + U_1)v,$$
(1.2)

^{*}Department of Mathematics, Shanghai University, Shanghai, China,

 $e-mails:\ lijianstud@163.com,\ xiatc@shu.edu.cn\ (corresponding\ author).$

[†]College of Mathematics and Information Science, Henan University of Economics and Law, Zhengzhou, China, e-mail: guohandong2008@163.com.

The work is in part supported by the National Natural Science Foundation of China (grant No. 11975145).

Prepared from an English manuscript submitted by the authors; for the Russian version, see *Teoreticheskaya i Matematicheskaya Fizika*, Vol. 213, No. 3, pp. 459–481, December, 2022. Received July 19, 2022. Revised July 19, 2022. Accepted August 21, 2022.

and

$$U_0 = \begin{pmatrix} 0 & qe^{i\theta} \\ -re^{-i\phi} & 0 \end{pmatrix}, \quad U_1 = \begin{pmatrix} i\alpha qre^{i(\theta-\phi)} & i\sqrt{\alpha}(qe^{i\theta})_x \\ i\sqrt{\alpha}(re^{-i\phi})_x & -i\alpha qre^{i(\theta-\phi)} \end{pmatrix}, \quad \sigma_3 = \begin{pmatrix} 1 & 0 \\ 0 & -1 \end{pmatrix}$$

Setting $r(x,t) = q^*(-x,t)$ and $\phi(x,t) = \theta(-x,t)$, we reduce Eqs. (1.1), to the nonlocal Kundu–NLS equation [15]

$$iq_t + q_{xx} + 2\alpha e^{i(\theta - \theta(-x,t))}q^2q^*(-x,t) - (\theta_t + \theta_x^2 - i\theta_{xx})q + 2i\theta_x q_x = 0.$$
(1.3)

When $\alpha = 1$, nonlocal Kundu–NLS equation (1.3) is focusing, and when $\alpha = -1$, it is defocusing.

The main goal in this paper is to study the long-time asymptotics for the nonlocal Kundu–NLS equation (1.3) with a decaying initial value $q(x, 0) = q_0(x) \in \mathbb{S}(\mathbb{R})$, where

$$\mathbb{S}(\mathbb{R}) = \left\{ f(x) \left| \int_{-\infty}^{\infty} (1 + |x|^{\gamma} f(x)) \, dx < \infty, \ \gamma > 1 \right\}$$
(1.4)

is the Schwartz space. Our interest in the long-time behavior of the initial value problem for the integrable nonlocal Kundu–NLS equation was largely motivated by Rybalko and Shepelsky [16], [17], who studied the long-time behavior of solutions of the nonlocal NLS equation. Generally speaking, the long-time asymptotics of the solutions of integrable systems are a hot topic, with various outstanding approaches having been proposed [18]–[24].

An extremely efficient method to analyze solutions of integrable systems is the nonlinear steepestdescent method [25] proposed by Deift and Zhou based on the preceding studies. The main idea is to reduce the oscillating Riemann-Hilbert (RH) problem to a solvable one through a series of rapidly descending deformation paths. With this effective method, more and more integrable systems have been studied, including the dispersion KdV equation [26], the defocusing NLS equation [27], [28], the Camassa-Holm equation [29], the Kundu-Eckhaus equation [30], the three-component coupled nonlinear Schrödinger system [31], the Fokas-Lenells and derivative NLS equations [32], [33], the MKdV equation in a quarter plane $\{x \ge 0, t \ge 0\}$ [34], [35], and coupled modified Korteweg-de Vries equations [36].

This paper is organized as follows. In Sec. 2, we construct the RH problem of the nonlocal Kundu– NLS equation via transformation (2.2), Volterra equations (2.3), scattering relation (2.4), and symmetry relations (2.7). Then, using the steepest decent contours, trigonometric decomposition, and a scaling transformation, we obtain the Cauchy problem (1.3) with the decaying value. In the Appendix, we give the proof of Theorem 1 based on the use of the Weber equation and the standard parabolic cylinder function.

2. The RH problem for the nonlocal Kundu–NLS equation

By changing the variable as

$$w = v e^{i\lambda x\sigma_3 + 2i\lambda^2 t\sigma_3}, \qquad |x| \to \infty, \tag{2.1}$$

we reduce Lax pair (1.2) to

$$w_x + i\lambda[\sigma_3, w] = U_0 w,$$

$$w_t + 2i\lambda^2[\sigma_3, w] = V_1 w,$$
(2.2)

where $V_1 = 2\sqrt{\alpha}\lambda U_0 + U_1$, $[\sigma_3, w] = \sigma_3 w - w\sigma_3$ is the Lie bracket operation. The tracelessness condition tr $U_0 = \text{tr } V_1 = 0$ implies that det w = 1.

To construct the RH problem for the nonlocal Kundu–NLS equation, we introduce two Volterra equations

$$w_1(x,t;\lambda) = I + \int_{-\infty}^x e^{i\lambda(x-y)\operatorname{ad}\sigma_3} (U_0w_1(y,\lambda)) \, dy,$$

$$w_2(x,t;\lambda) = I - \int_x^{+\infty} e^{-i\lambda(x-y)\operatorname{ad}\sigma_3} (U_0w_2(y,\lambda)) \, dy,$$
(2.3)

where $e^{\mathrm{ad}\sigma_3}(M) = e^{\sigma_3}Me^{-\sigma_3}$ for a matrix M and I is the identity matrix. It follows from Eqs. (2.3) that

$$e^{i\lambda(x-y)\sigma_3}\sqrt{\alpha}U_0e^{-i\lambda(x-y)\sigma_3} = \begin{pmatrix} 0 & \sqrt{\alpha}qe^{i\theta}e^{2i\lambda(x-y)}\\ -\sqrt{\alpha}q^*(-x,t)e^{-i\theta(-x,t)}e^{-2i\lambda(x-y)} & 0 \end{pmatrix}.$$

Let $w_1(x,t;k) = (w_1^{(1)}, w_1^{(2)})$ and $w_2(x,t;k) = (w_2^{(1)}, w_2^{(2)})$. It follows that $w_1^{(1)}$ and $w_2^{(2)}$ are analytic in the lower half-plane $\mathbb{C}^- = \{\lambda \in \mathbb{C} \mid \text{Im } \lambda < 0\}$, and $w_1^{(2)}$ and $w_2^{(1)}$ are analytic in the upper half-plane $\mathbb{C}^+ = \{\lambda \in \mathbb{C} \mid \text{Im } \lambda > 0\}$.

The matrix solutions of system (1.2) with $\lambda \in \mathbb{R}$ satisfy the relation

$$v_1(x,t;\lambda) = v_2(x,t;\lambda)S(\lambda), \qquad (2.4)$$

where $S(\lambda)$ is the scattering matrix. From [37], we have

$$v_1^*(-x,t;-\lambda^*) = \Delta^{-1}v(x,t;\lambda)\Delta, \qquad \Delta = \begin{pmatrix} 0 & \sigma \\ 1 & 0 \end{pmatrix}, \quad \sigma = \pm 1.$$
(2.5)

Based on scattering relation (2.4) and symmetry (2.5), the expression for the scattering matrix $S(\lambda)$ can be written as

$$S(\lambda) = \begin{pmatrix} A_1(\lambda) & -\sigma B^*(-\lambda^*) \\ B(\lambda) & A_2(\lambda) \end{pmatrix}, \qquad \lambda \in \mathbb{R},$$
(2.6)

and the elements $A_1(\lambda)$, $A_2(\lambda)$ of $S(\lambda)$ satisfy the symmetry relations

$$A_1(\lambda) = A_1^*(-\lambda^*), \qquad A_2(\lambda) = A_2^*(-\lambda^*).$$
 (2.7)

It is obvious that symmetry relation (2.7) for the nonlocal Kundu–NLS equation differ from those in the local case, which highlights the necessity of studying nonlocal integrable systems.

On the other hand, it is worth noting that the scattering matrix $S(\lambda)$ can be uniquely determined as

$$S(\lambda) = v_2^{-1}(x,0;\lambda)v_1(x,0;\lambda) = e^{ix\lambda}w_2^{-1}(x,0;\lambda)w_1(x,0;\lambda)e^{-ix\lambda},$$
(2.8)

where $w_1(x,0;\lambda)$, $w_2(x,0;\lambda)$ are defined by the Volterra equations (2.3). If

$$w_1(x,0;\lambda) = \begin{pmatrix} (w_1)_{11} & (w_1)_{12} \\ (w_1)_{21} & (w_1)_{22} \end{pmatrix},$$
(2.9)

then we have

$$(w_{1})_{11}(x;\lambda) = 1 + \sqrt{\alpha} \int_{-\infty}^{x} q(y)e^{i\theta(y)}(w_{1})_{21}(y;\lambda) \, dy,$$

$$(w_{1})_{21}(x;\lambda) = -\sqrt{\alpha} \int_{-\infty}^{x} q^{*}(-y)e^{-i\theta(-y)}(w_{1})_{11}(y;\lambda)e^{-2i\lambda(x-y)} \, dy,$$

$$(w_{1})_{12}(x;\lambda) = \sqrt{\alpha} \int_{-\infty}^{x} q(y)e^{i\theta(y)}(w_{1})_{22}(y;\lambda)e^{2i\lambda(x-y)} \, dy,$$

$$(w_{1})_{22}(x;\lambda) = 1 - \sqrt{\alpha} \int_{-\infty}^{x} q^{*}(-y)e^{-i\theta(-y)}(w_{1})_{12}(y;\lambda) \, dy.$$

(2.10)

Thus, the scattering data $A_1(\lambda)$, $A_2(\lambda)$, $B(\lambda)$ are given by

$$A_1(\lambda) = \lim_{x \to +\infty} (w_1)_{11}(x;\lambda),$$

$$A_2(\lambda) = \lim_{x \to +\infty} (w_1)_{22}(x;\lambda),$$

$$B(\lambda) = \lim_{x \to +\infty} e^{-2ix\lambda}(w_1)_{21}(x;\lambda).$$
(2.11)

We rewrite relation (2.4) as

$$w_1(x,t;\lambda) = w_2(x,t;\lambda)e^{-i\lambda x - 2i\lambda^2 t}S(\lambda)e^{i\lambda x + 2i\lambda^2 t}, \qquad \lambda \in \mathbb{R},$$
(2.12)

with

$$w_1^{(1)} = w_2^{(1)} A_1(\lambda) + w_2^{(2)} B(\lambda) e^{2i\lambda x + 4i\lambda^2 t},$$

$$w_1^{(2)} = -\sigma w_2^{(1)} B^*(-\lambda^*) e^{-2i\lambda x - 4i\lambda^2 t} + w_2^{(2)} A_2(\lambda).$$
(2.13)

Equation (2.13) can be written in matrix form

$$\left(\frac{w_1^{(1)}}{A_1(\lambda)}, w_2^{(2)}\right) = \left(w_2^{(1)}, \frac{w_1^{(2)}}{A_2(\lambda)}\right) e^{-i(\lambda x + 2\lambda^2 t) \operatorname{ad} \sigma_3} \begin{pmatrix} 1 + \sigma H_1(\lambda) H_2(\lambda) & \sigma H_2(\lambda) \\ H_1(\lambda) & 1 \end{pmatrix},$$

where $H_1(\lambda) = B(\lambda)/A_1(\lambda)$ and $H_2(\lambda) = B^*(-\lambda)/A_2(\lambda)$. This follows from

$$H_{2}^{*}(-\lambda) = \frac{B(\lambda)}{A_{2}^{*}(-\lambda)} = H_{1}(\lambda)\frac{A_{1}(\lambda)}{A_{2}^{*}(-\lambda)} = H_{1}(\lambda)\frac{A_{1}(\lambda)}{A_{2}(\lambda)},$$
(2.14)

and

$$H_1^*(-\lambda) = H_2(\lambda) \frac{A_2(\lambda)}{A_1(\lambda)}, \qquad 1 + \sigma H_1(\lambda) H_2(\lambda) = \frac{1}{A_1(\lambda) A_2(\lambda)}.$$
(2.15)

To obtain the original oscillatory RH problem of the nonlocal Kundu–NLS equation (1.3), we define a piecewise analytic function as

$$P(x,t;\lambda) = \begin{cases} \left(\frac{w_1^{(1)}}{A_1(\lambda)}, w_2^{(2)}\right), & \lambda \in \mathbb{C}^-, \\ \left(w_2^{(1)}, \frac{w_1^{(2)}}{A_1(\lambda)}\right), & \lambda \in \mathbb{C}^+. \end{cases}$$
(2.16)

It satisfies the RH problem

$$P_{+}(x,t;\lambda) = P_{-}(x,t;\lambda)J(x,t;\lambda), \qquad P(x,t;\lambda) \to I, \quad \lambda \to \infty$$
(2.17)

with the jump matrix

$$J(x,t;\lambda) = \begin{pmatrix} 1 + \sigma H_1(\lambda)H_2(\lambda) & \sigma H_2(\lambda)e^{-i(2\lambda x + 4\lambda^2 t)} \\ H_1(\lambda)e^{i(2\lambda x + 4\lambda^2 t)} & 1 \end{pmatrix}.$$
(2.18)

Therefore, the solution of nonlocal Kundu–NLS equation (1.3) can be written as

$$q(x,t)e^{i\theta} = 2i \lim_{\lambda \to \infty} \lambda \left(P(x,t;\lambda) \right)_{12},$$

$$-q^*(-x,t)e^{-i\theta(-x,t)} = 2i \lim_{\lambda \to \infty} \lambda \left(P(x,t;\lambda) \right)_{21}.$$

(2.19)

The approach in this paper extends Deift–Zhou's method to obtain the long-time asymptotic behavior of the solution through the related phase point drop.



Fig. 1. Contours L and \overline{L} .

2.1. The steepest decent contours. let $F(\lambda) = (x/t)\lambda + 2\lambda^2$. From

$$\frac{dF(\lambda)}{d\lambda} = \frac{x}{t} + 4\lambda = 0, \qquad \frac{d^2F(\lambda)}{d\lambda^2} = 4 \neq 0, \qquad (2.20)$$

we then obtain a stationary point $\lambda_0 = -x/4t$ and two steepest decent contours (see Fig. 1)

$$L = \{\lambda = \lambda_0 + \mu e^{3i\pi/4}, \ \mu \in \mathbb{R}\},\$$

$$\overline{L} = \{\lambda = \lambda_0 + \mu e^{-3i\pi/4}, \ \mu \in \mathbb{R}\}.$$

(2.21)

Let $\lambda = \lambda_1 + i\lambda_2$. For the above stationary point λ_0 , we have

$$F(\lambda) = -4\lambda\lambda_0 + 2\lambda^2 = -4\lambda_1\lambda_0 + 2(\lambda_1^2 - 2\lambda_2^2) + 4i(\lambda_1 - \lambda_0)\lambda_2.$$
 (2.22)

It thus follows that

- the oscillating factor $e^{itF(\lambda)}$ decays exponentially on $\operatorname{Re}(iF) < 0$,
- the oscillating factor $e^{-itF(\lambda)}$ decays exponentially on $\operatorname{Re}(iF) > 0$.

The constant-sign intervals of $\operatorname{Re}(iF) = -4(\operatorname{Re}\lambda - \lambda_0)\operatorname{Im}\lambda$ are shown in Fig. 2.



Fig. 2. The constant-sign intervals of $\operatorname{Re}(iF)$ on the complex λ -plane.

2.2. Trigonometric decomposition. In the physically interesting region $|x/t| \leq C$, following [25], we can decompose the jump matrix $J(x, t; \lambda)$ in (2.17) as follows:

$$J(x,t;\lambda) = \begin{pmatrix} 1 & \sigma H_2(\lambda)e^{-2itF} \\ 0 & 1 \end{pmatrix} \begin{pmatrix} 1 & 0 \\ H_1(\lambda)e^{2itF} & 1 \end{pmatrix}$$

for $\lambda \in (\lambda_0, +\infty)$ and

$$J(x,t;\lambda) = \begin{pmatrix} 1 & 0\\ \frac{H_1(\lambda)e^{2itF}}{1+\sigma H_1(\lambda)H_2(\lambda)} & 1 \end{pmatrix} \begin{pmatrix} 1+\sigma H_1H_2 & 0\\ 0 & \frac{1}{1+\sigma H_1H_2} \end{pmatrix} \begin{pmatrix} 1 & \frac{\sigma H_2(\lambda)e^{-2itF}}{1+\sigma H_1(\lambda)H_2(\lambda)}\\ 0 & 1 \end{pmatrix}$$

for $\lambda \in (-\infty, \lambda_0)$.

It is known that the diagonal matrix has to be eliminated for $\lambda < \lambda_0$. We therefore introduce the transformation

$$P^{(1)} = P\delta^{-\sigma_3}(\lambda), \tag{2.23}$$

where $\delta(\lambda)$ satisfies the scalar RH problem and

$$\delta(\lambda) = \begin{cases} \delta_{-}(\lambda)(1 + \sigma H_{1}(\lambda)H_{2}(\lambda)), & \lambda \in (-\infty, \lambda_{0}), \\ \delta_{-}(\lambda), & \lambda \in (\lambda_{0}, \infty), \end{cases}$$
(2.24)
$$\delta(\lambda) \to 1, \qquad \lambda \to \infty.$$

From the Sokhotski–Plemelj formula, the solution of this scalar RH problem can be expressed as

$$\delta(\lambda) = \exp\left(\frac{1}{2\pi i} \int_{-\infty}^{\lambda_0} \frac{\log(1 + \sigma H_1(\xi) H_2(\xi))}{\xi - \lambda} d\xi\right).$$
(2.25)

It is worth emphasizing that in contrast to the general local integrable system, $1 + \sigma H_1(\xi)H_2(\xi)$ is not real-valued in the nonlocal Kundu–NLS equation. Deformation (2.25) can be expressed as

$$\delta(\lambda) = (\lambda_0 - \lambda)^{i\kappa(\lambda_0)} e^{\tau(\lambda)}, \qquad (2.26)$$

where

$$\kappa(\lambda_0) = -\frac{1}{2\pi} \log(1 + \sigma H_1(\lambda_0) H_2(\lambda_0)),$$

$$\tau(\lambda) = \frac{1}{2i\pi} \int_{-\infty}^{\lambda_0} \log(\xi - \lambda) d [\log(1 + \sigma H_1(\xi) H_2(\xi))].$$
(2.27)

From symmetry relations (2.7) and Eq. (2.15), we have

$$\kappa(-\lambda_0) = \kappa^*(\lambda_0),$$

$$\operatorname{Im} \kappa(\lambda_0) = -\frac{1}{2\pi} \int_{-\infty}^{\lambda_0} d \arg(1 + \sigma H_1(\xi) H_2(\xi)), \qquad |\operatorname{Im} \kappa(\lambda_0)| < \frac{1}{2},$$

$$\tau^*(-\lambda_0) + \tau(\lambda_0) = \frac{1}{2i\pi} \int_{-\infty}^{\infty} \frac{\log[A_1(\lambda_0) A_2(\lambda_0)]}{\xi - \lambda_0} d\xi.$$
(2.28)

Therefore, the RH problem (2.17) becomes

$$P_{+}^{(1)}(x,t;\lambda) = P_{-}^{(1)}(x,t;\lambda)J^{(1)}(x,t;\lambda), \qquad P^{(1)}(x,t;\lambda) \to I, \quad \lambda \to \infty,$$
(2.29)

where

$$J^{(1)}(x,t;\lambda) = \begin{pmatrix} 1 & \sigma H_2(\lambda)\delta^2(\lambda)e^{-2itF} \\ 0 & 1 \end{pmatrix} \begin{pmatrix} 1 & 0 \\ H_1(\lambda)\delta^{-2}(\lambda)e^{2itF} & 1 \end{pmatrix}$$

for $\lambda \in (\lambda_0, +\infty)$ and

$$J^{(1)}(x,t;\lambda) = \begin{pmatrix} 1 & 0\\ H_1(\lambda)e^{2itF}\delta_-^{-2}(\lambda) \\ 1+\sigma H_1(\lambda)H_2(\lambda) & 1 \end{pmatrix} \begin{pmatrix} 1 & \frac{\sigma H_2(\lambda)e^{-2itF}\delta_+^2(\lambda)}{1+\sigma H_1(\lambda)H_2(\lambda)} \\ 0 & 1 \end{pmatrix}$$

for $\lambda \in (-\infty, \lambda_0)$.

Obviously, the jump matrix contains four oscillating factors

$$H_1(\lambda), \quad H_2(\lambda), \quad \frac{H_1(\lambda)}{1 + \sigma H_1(\lambda) H_2(\lambda)}, \quad \frac{\sigma H_2(\lambda)}{1 + \sigma H_1(\lambda) H_2(\lambda)},$$

where

$$H_1^*(-\lambda) = H_2(\lambda) \frac{A_2(\lambda)}{A_1(\lambda)}, \qquad A_j = 1 + O\left(\frac{1}{\lambda}\right), \quad \lambda \to \infty$$

(with j = 1, 2). Following [25], we define a piecewise function

$$\omega(\lambda) = \begin{cases} \frac{H_1(\lambda)}{1 + \sigma H_1(\lambda) H_2(\lambda)}, & \lambda \in (-\infty, \lambda_0), \\ H_1(\lambda), & \lambda \in (\lambda_0, +\infty). \end{cases}$$
(2.30)

Because $\omega^*(-\lambda) = \rho(A_1(\lambda), A_2(\lambda))\omega(\lambda)$, where $\rho(A_1(\lambda), A_2(\lambda))$ is a constant as $\lambda \to \infty$ it follows that $\omega(\lambda)$ defined this way can also be approximated by similar rational functions. For $\lambda \in (-\infty, \lambda_0)$, we write it as

$$\omega(\lambda) = \frac{H_1(\lambda)}{1 + \sigma H_1(\lambda) H_2(\lambda)} = H_e(\lambda^2) + \lambda H_o(\lambda^2), \qquad (2.31)$$

where $H_{\rm e}(\cdot), H_{\rm o}(\cdot) \in \mathbb{S}$. For an integer $m \in \mathbb{Z}^+$, it follows from Taylor's formula with remainder that

$$H_{e}(\lambda^{2}) = \mu_{0}^{e} + \mu_{1}^{e}(\lambda^{2} - \lambda_{0}^{2}) + \dots + \mu_{m}^{e}(\lambda^{2} - \lambda_{0}^{2})^{m} + \frac{1}{m!} \int_{\lambda_{0}^{2}}^{\lambda^{2}} H_{e}^{(m+1)}(\gamma)(\lambda^{2} - \gamma)^{m} d\gamma,$$

$$H_{o}(\lambda^{2}) = \mu_{0}^{o} + \mu_{1}^{o}(\lambda^{2} - \lambda_{0}^{2}) + \dots + \mu_{m}^{o}(\lambda^{2} - \lambda_{0}^{2})^{m} + \frac{1}{m!} \int_{\lambda_{0}^{2}}^{\lambda^{2}} H_{o}^{(m+1)}(\gamma)(\lambda^{2} - \gamma)^{m} d\gamma.$$
(2.32)

We set

$$R(\lambda) = \sum_{j=0}^{m} \mu_j^{\rm e} (\lambda^2 - \lambda_0^2)^j + \lambda \sum_{j=0}^{m} \mu_j^{\rm o} (\lambda^2 - \lambda_0^2)^j.$$
(2.33)

Comparing Eqs. (2.31) and (2.33), we then have

$$\frac{d^{j}\omega(\lambda)}{d\lambda^{j}}\Big|_{\pm\lambda_{0}} = \frac{d^{j}R(\lambda)}{d\lambda^{j}}\Big|_{\pm\lambda_{0}}, \qquad 0 \leqslant j \leqslant m,$$
(2.34)

where $\mu_j^{\rm e} = \mu_j^{\rm e}(\lambda_0^2)$ and $\mu_j^0 = \mu_j^0(\lambda_0^2)$ decay rapidly as $\lambda_0 \to \infty$, which follows because

$$\mu_{j}^{\mathrm{e}}(\lambda_{0}^{2}) = \frac{1}{j!} \frac{d^{j} H_{\mathrm{e}}(u)}{du^{j}} \Big|_{\lambda_{0}^{2}}, \qquad \mu_{j}^{\mathrm{o}}(\lambda_{0}^{2}) = \frac{1}{j!} \frac{d^{j} H_{\mathrm{o}}(u)}{du^{j}} \Big|_{\lambda_{0}^{2}}.$$
(2.35)

Let $\omega(\lambda) = r(\lambda) + R(\lambda)$ for $\lambda \in (-\infty, \lambda_0)$. From (2.34) we then have

$$\frac{d^{j}r(\lambda)}{d\lambda^{j}}\Big|_{\pm\lambda_{0}} = 0, \qquad 0 \leqslant j \leqslant m.$$
(2.36)

We write $r(\lambda)$ as

$$r(\lambda) = r_1(\lambda) + r_2(\lambda), \qquad (2.37)$$

where $r_1(\lambda)$ is small and $r_2(\lambda)$ has an analytic continuation to $\lambda + i0$. Thus,

$$\omega(\lambda) = r_1(\lambda) + r_2(\lambda) + R(\lambda). \tag{2.38}$$

Proposition 1. Let m = 4n + 1, $n \in \mathbb{Z}^+$. As $t \to \infty$, the functions $r_1(\lambda)$, $r_2(\lambda)$, $R(\lambda)$ satisfy the estimates

$$|e^{-2iF(\lambda)}r_{1}(\lambda)| \leq \frac{c}{(1+|\lambda|^{2})t^{\ell}}, \qquad \lambda \in \mathbb{R},$$

$$|e^{-2iF(\lambda)}r_{2}(\lambda)| \leq \frac{c}{(1+|\lambda|^{2})t^{\ell}}, \qquad \lambda \in L,$$

$$R(\lambda) \leq ce^{-4t\mu^{2}}, \qquad \lambda \in \mathbb{C}, \qquad \mu = \text{const},$$

$$(2.39)$$

where ℓ is a positive integer. The complex conjugate of $\omega(\lambda)$ yields similar estimates for $r_1^*(\lambda), r_2^*(\lambda), R^*(\lambda)$ on $\mathbb{R} \cup \overline{L}$.

Proof. We define the function

$$\psi(\lambda) = (\lambda^2 - \lambda_0^2)^n, \qquad \lambda < \lambda_0.$$
(2.40)

For $\lambda < \lambda_0$, the map $\lambda \mapsto F(\lambda) = -4\lambda\lambda_0 + 2\lambda^2$ is one-to-one, $F(\lambda_0) = -2\lambda_0^2$, and

$$\frac{d\lambda}{dF} = \frac{1}{4(\lambda(F) - \lambda_0)}.$$

We can therefore define a function

$$\left(\frac{r}{\psi}\right)(F) = \begin{cases} \frac{r(\lambda(F))}{\psi(\lambda(F))}, & F(\lambda_0) \ge -2\lambda_0^2, \\ 0, & F < -2\lambda_0^2. \end{cases}$$
(2.41)

Then

$$\left(\frac{r}{\psi}\right)(F) = O[(\lambda^2(F) - \lambda_0^2)^{m+1-n}] \in \mathbb{H}^j, \qquad 0 \leqslant j \leqslant \frac{3n+2}{2},$$

where \mathbb{H}^{j} is the Hilbert space of rapidly decreasing functions. Using the Fourier transformation, we have

$$\left(\frac{r}{\psi}\right)(\lambda) = \frac{1}{\sqrt{2\pi}} \int_{-\infty}^{\infty} e^{isF(\lambda)} \underbrace{\left(\frac{r}{\psi}\right)}(s) \, ds, \qquad \lambda < \lambda_0,$$

where

$$\widehat{\left(\frac{r}{\psi}\right)}(s) = -\frac{1}{\sqrt{2\pi}} \int_{-\infty}^{\lambda_0} e^{-isF(\lambda)} \left(\frac{r}{\psi}\right)(\lambda) \, dF(\lambda), \qquad s \in \mathbb{R}.$$

It follows from Eqs. (2.32) and (2.40) that

$$\binom{r}{\psi}(\lambda) = \frac{(\lambda^2 - \lambda_0^2)^{3n+2}}{m!} \left(\int_0^1 H_e^{(m+1)} [\lambda_0^2 + \gamma(\lambda^2 - \lambda_0^2)] (1 - \gamma)^m \, d\gamma + \int_0^1 H_o^{(m+1)} [\lambda_0^2 + \gamma(\lambda^2 - \lambda_0^2)] (1 - \gamma)^m \, d\gamma \right).$$

For $0 \leq j \leq (3n+2)/2$, we have the estimate

$$\frac{1}{\sqrt{2\pi}} \int_0^{\lambda_0} \left| \left(\frac{d}{dF} \right)^j \left(\frac{r}{\psi} \right)(\lambda) \right|^2 |dF| = \frac{1}{\sqrt{2\pi}} \int_0^{\lambda_0} \left| \left(\frac{1}{4(\lambda - \lambda_0)} \frac{d}{d\lambda} \right)^j \left(\frac{r}{\psi} \right)(\lambda)(\lambda) \right|^2 |4(\lambda - \lambda_0)| \, d\lambda \leqslant c_1 < \infty.$$

Using Plancherel's formula, we obtain

$$\int_{-\infty}^{\infty} (1+s^2)^j \left| \overbrace{\left(\frac{r}{\psi}\right)}^{\infty} (s) \right|^2 ds \leqslant c_2 < \infty, \qquad 0 \leqslant j \leqslant \frac{3n+2}{2}.$$
(2.42)

In accordance with (2.37) and (2.41), we have

$$r(\lambda) = \frac{\psi(\lambda)}{\sqrt{2\pi}} \int_t^\infty e^{isF} \left| \overbrace{\left(\frac{r}{\psi}\right)}^2 (s) \right|^2 ds + \frac{\psi(\lambda)}{\sqrt{2\pi}} \int_{-\infty}^t e^{isF} \left| \overbrace{\left(\frac{r}{\psi}\right)}^2 (s) \right|^2 ds \equiv r_1(\lambda) + r_2(\lambda)$$

It hence follows that

$$\begin{split} |e^{-2itF(\lambda)}r_1| &= |\psi(\lambda)| \frac{1}{\sqrt{2\pi}} \int_t^\infty \left| \overbrace{\left(\frac{r}{\psi}\right)}^{\infty}(s) \right| ds \leqslant \\ &\leqslant |\psi(\lambda)| \left[\frac{1}{\sqrt{2\pi}} \int_t^\infty (1+s^2)^{-p} \, ds \right]^{1/2} \left[\frac{1}{\sqrt{2\pi}} \int_{-\infty}^t (1+s^2)^p \left| \overbrace{\left(\frac{r}{\psi}\right)}^{2}(s) \right|^2 ds \right]^{1/2} \leqslant \\ &\leqslant \frac{c}{t^{1/2-p}}. \end{split}$$

It can also be shown that $r_2(\lambda)$ has an analytic continuation to L defined by (2.21). Hence, using formula (2.42) again, we have

$$|e^{-2itF(\lambda)}r_2| = e^{-t\operatorname{Re}(iF)}|\psi(\lambda)|\frac{1}{\sqrt{2\pi}}\int_{-\infty}^t e^{(s-t)\operatorname{Re}(iF)}\left|\overbrace{\left(\frac{r}{\psi}\right)}^{(s)}(s)\right|ds \leqslant ce^{-t\operatorname{Re}(iF)}.$$

Because $F(\lambda) = 2(\lambda - \lambda_0)^2 - 2\lambda_0^2$ and hence $\operatorname{Re}(iF) = 2\mu^2$, it follows that

$$|e^{-2itF(\lambda)}r_2| \leqslant C \frac{1}{t^{q/2}}, \qquad C = \text{const.}$$

Finally,

$$|e^{-2itF(\lambda)}R(\lambda)| \leqslant Ce^{-4t\mu^2}.$$

On the other hand, in the case $\lambda > \lambda_0$, we can set $\omega(\lambda) = H_1(\lambda)$. Similarly, from Taylor's formula, we have

$$(\lambda - i)^{m+5}\omega(\lambda) = \sum_{j=0}^{m} \mu_j (\lambda - \lambda_0)^j + \frac{1}{m!} \int_{\lambda_0}^{\lambda} [(\gamma - i)^{m+5}\omega(\gamma)]^{(m+1)} (\lambda - \gamma)^m \, d\gamma.$$
(2.43)

We define

$$R(\lambda) = \frac{1}{(\lambda - i)^{m+5}} \sum_{j=0}^{m} \mu_j (\lambda - \lambda_0)^j, \qquad r(\lambda) = \omega(\lambda) - R(\lambda).$$
(2.44)

Comparing with Eq. (2.34), we see that

$$\frac{d^{j}\omega(\lambda)}{d\lambda^{j}}\Big|_{\lambda_{0}} = \frac{d^{j}R(\lambda)}{d\lambda^{j}}\Big|_{\lambda_{0}}, \qquad 0 \leqslant j \leqslant m.$$

Let $\tilde{\psi}(\lambda) = (\lambda - \lambda_0)^n / (\lambda - i)^{n+2}$. Then

$$\left(\frac{r}{\tilde{\psi}}\right)(\lambda) = \frac{1}{\sqrt{2\pi}} \int_{-\infty}^{\infty} e^{isF(\lambda)} \underbrace{\left(\frac{r}{\tilde{\psi}}\right)}(s) \, ds, \qquad \lambda \geqslant \lambda_0,$$

where

$$\widehat{\left(\frac{r}{\tilde{\psi}}\right)}(s) = \int_{\lambda_0}^{\infty} e^{isF(\lambda)} \left(\frac{r}{\tilde{\psi}}\right)(\lambda) \, dF(\lambda).$$

Combining Eqs. (2.43) and (2.44) gives

$$\left(\frac{r}{\tilde{\psi}}\right)(\lambda) = \frac{(\lambda - \lambda_0)^{3n+2}}{(\lambda - i)^{3n+4}}g(\lambda, \lambda_0),$$

where

$$g(\lambda,\lambda_0) = \frac{1}{m!} \int_0^1 [(\gamma-i)^{m+5} \omega(\gamma)]^{(\lambda+5)} [\lambda_0 + \gamma(\lambda-\lambda_0)] (1-\gamma)^m \, d\gamma.$$

We thus see that

$$\left|\frac{d^j g(\lambda, \lambda_0)}{d\lambda^j}\right| \leqslant C, \qquad \lambda \geqslant \lambda_0.$$

This finishes the proof.

Thus, the RH problem (2.29) can be rewritten as

$$P_{+}^{(2)}(x,t;\lambda) = P_{-}^{(2)}(x,t;\lambda)J_{\delta}^{(2)}(x,t;\lambda), \qquad P_{+}^{(2)}(x,t;\lambda) \to I, \quad \lambda \to \infty,$$
(2.45)

where $J_{\delta}^{(2)}(x,t;\lambda) = \delta_{\pm}^{\operatorname{ad} \sigma_3} e^{-itF(\lambda) \operatorname{ad} \sigma_3} b_{\pm}$ with

$$b_{+} = I + \Phi_{+} = \begin{pmatrix} 1 & \omega(\lambda) \\ 0 & 1 \end{pmatrix}, \qquad b_{-} = I - \Phi_{-} = \begin{pmatrix} 1 & 0 \\ \omega^{*}(\lambda) & 1 \end{pmatrix}.$$
 (2.46)

According to decomposition (2.38), b_\pm can be decomposed into two parts:

$$b_{+} = b_{+}^{o}b_{+}^{a} = \begin{pmatrix} 1 & r_{1} \\ 0 & 1 \end{pmatrix} \begin{pmatrix} 1 & r_{2} + R \\ 0 & 1 \end{pmatrix},$$

$$b_{-} = b_{-}^{o}b_{-}^{a} = \begin{pmatrix} 1 & 0 \\ r_{1}^{*} & 1 \end{pmatrix} \begin{pmatrix} 1 \\ r_{2}^{*} + R^{*} & 1 \end{pmatrix}.$$
(2.47)

Hence, the jump matrix $J^{(2)}_{\delta}(x,t;\lambda)$ can be written as

$$J_{\delta}^{(2)}(x,t;\lambda) = \delta^{\operatorname{ad}\sigma_3} e^{-itF(\lambda)\operatorname{ad}\sigma_3} \underbrace{(b^{\mathrm{a}}_{-})^{-1}}_{\overline{L}} \underbrace{(b^{\mathrm{o}}_{-})^{-1}b^{\mathrm{o}}_{+}}_{\mathbb{R}} \underbrace{b^{\mathrm{a}}_{+}}_{L}, \qquad (2.48)$$

where we indicate that $(b_{-}^{a})^{-1}$ is continued analytically to \overline{L} , $(b_{-}^{o})^{-1}b_{+}^{o}$ has no analytic continuation but decays rapidly as $t \to \infty$, and b_{+}^{a} is continued analytically to L. We introduce the transformation

$$P^{(3)}(x,t;\lambda) = P^{(2)}(x,t;\lambda)T,$$
(2.49)

where

$$T = \begin{cases} I, & \lambda \in \Omega_2 \cup \Omega_5, \\ (b^{\mathbf{a}}_{-})^{-1}, & \lambda \in \Omega_1 \cup \Omega_4, \\ (b^{\mathbf{a}}_{+})^{-1}, & \lambda \in \Omega_3 \cup \Omega_6, \end{cases}$$
(2.50)

and Ω_i $(i = 1, \ldots, 6)$ are shown in Fig. 3.



Fig. 3. The domains Ω_i for $i = 1, \ldots, 6$.

Thus, the RH problem on \mathbb{R} can be transformed into a RH problem on $\Omega = \bigcup_i \Omega_i$,

$$P_{+}^{(3)}(x,t;\lambda) = P_{-}^{(3)}(x,t;\lambda)J_{\delta}^{(3)}(x,t;\lambda), \qquad P^{(3)}(x,t;\lambda) \to I, \quad \lambda \to \infty,$$
(2.51)

where

$$J_{\delta}^{(3)}(x,t;\lambda) = \delta^{\operatorname{ad}\sigma_{3}} e^{-itF(\lambda)\operatorname{ad}\sigma_{3}} \begin{cases} (b_{-}^{\circ})^{-1}b_{+}^{\circ}, & \lambda \in \mathbb{R}, \\ b_{+}^{\circ}, & \lambda \in L, \\ (b_{-}^{\circ})^{-1}, & \lambda \in \overline{L}. \end{cases}$$
(2.52)

If we take the real axis as an example, we have $P_{R+}^{(3)} = P_{R-}^{(3)} J_{\delta}^{(3)}$. From transformation (2.49), it follows that

$$P_{R+}^{(3)} = P_{R+}^{(2)} T_{R+}, \qquad P_{R-}^{(3)} = P_{R-}^{(2)} T_{R-}, \qquad J_{\delta}^{(3)} = (T_{R-})^{-1} J_{\delta}^{(2)} T_{R+}.$$
(2.53)

If we let $T_{R-} = (b_{-}^{a})^{-1}$ and $T_{R+} = (b_{+}^{a})^{-1}$, then we obtain (2.52) for $\lambda \in \mathbb{R}^{+}$. Let

$$b_{\pm}^{(3)} = \pm \delta^{\operatorname{ad}\sigma_3} e^{-itF(\lambda)\operatorname{ad}\sigma_3} (b_{\pm} - I), \qquad b^{(3)} = b_{\pm}^{(3)} - b_{\pm}^{(3)}.$$
(2.54)

From the above estimates, we have $b_{\pm}^{(3)}, b^{(3)} \in L^2(\Omega) \cap L^{\infty}(\Omega)$. We define a bounded Cauchy operator $C_{\pm}(f)$ for $f \in L^2(\Omega)$:

$$(C_{\pm}f)(\lambda) = \frac{1}{2\pi i} \int_{\Omega} \frac{f(\zeta)}{\zeta - \lambda_{\pm}} d\zeta, \qquad \lambda \in \Omega.$$
(2.55)

Thus, the C_{\pm} , as a map from $L^2(\Omega_i)$ to $L^2(\Omega)$, is independent of λ_0 and

$$C_{+} - C_{-} = 1,$$
 $C_{b^{(3)}}f = C_{+}(f(b_{-}^{(3)})) + C_{-}(f(b_{+}^{(3)})),$

where f is a 2×2 matrix-valued function.

If $\chi(x,t;\lambda) \in L^2(\Omega) \cap L^{\infty}(\Omega)$ is a solution of RH problem (2.51), then, based on [22] and using the Neumann series, we have

$$P^{(3)}(x,t;\lambda) = I + \frac{1}{2\pi i} \int_{\Omega} \frac{\chi(x,t;\lambda)b^{(3)}(\zeta)}{\zeta - \lambda} \, d\zeta, \qquad \lambda \in \mathbb{C}/\Omega.$$
(2.56)

In addition, the solution of nonlocal Kundu–NLS equation (1.3) can be represented as

$$q^{*}(-x,t) = -2ie^{-i\theta(-x,t)} \lim_{\lambda \to \infty} \left(\lambda \frac{1}{2\pi i} \int_{\Omega} \frac{\chi(x,t;\lambda)b^{(3)}(\zeta)}{\zeta - \lambda} \, d\zeta \right)_{21} = \frac{e^{i\theta(-x,t)}}{\pi} \left(\int_{\Omega} (1 - C_{b^{(3)}})^{-1} I(\zeta)b^{(3)}(\zeta) \, d\zeta \right)_{21}.$$
(2.57)

Let

$$b^{(3)} = b^{\rm e} + b^R, (2.58)$$

where $b^e = b^{(3)} \upharpoonright \mathbb{R}$ is supported on \mathbb{R} and can be composed of the contributions to $b^{(3)}$ by the terms $r_1(\lambda)$ and $r_1^*(\lambda^*)$, and $b^R = b^{(3)} \upharpoonright L \cup \overline{L}$ is supported on $L \cup \overline{L}$ and can be composed of the contributions to $b^{(3)}$ by the terms $r_2(\lambda)$ and $r_2^*(\lambda^*)$. We give specific expressions below, It is obvious that $b^R = 0$ for $\lambda \in \mathbb{R}$, and we hence have

$$b^{(3)} = \begin{pmatrix} 0 & r_1 \\ 0 & 0 \end{pmatrix} \begin{pmatrix} 0 & 0 \\ r_1^* & 0 \end{pmatrix} = \begin{pmatrix} r_1 + r_1^* & 0 \\ 0 & 0 \end{pmatrix}.$$
 (2.59)

For $\lambda \in L$, $J_{\delta}^{(3)}(x,t;\lambda) = b_{+}^{a}$, and then

$$b^{(3)} = b_{+}^{a} - I = \begin{pmatrix} 0 & r_{2} + R \\ 0 & 0 \end{pmatrix} = \begin{pmatrix} 0 & r_{2} \\ 0 & 0 \end{pmatrix} + \begin{pmatrix} 0 & R \\ 0 & 0 \end{pmatrix}.$$

For $\lambda \in \overline{L}$, $J_{\delta}^{(3)}(x,t;\lambda) = (b_{-}^{\mathrm{a}})^{-1}$, and

$$b^{(3)} = (b_{-}^{a})^{-1} - I = \begin{pmatrix} 0 & 0 \\ -r_{2}^{*} - R^{*} & 0 \end{pmatrix} = \begin{pmatrix} 0 & 0 \\ -r_{2}^{*} & 0 \end{pmatrix} + \begin{pmatrix} 0 & 0 \\ -R^{*} & 0 \end{pmatrix}.$$

Through careful analysis and verification, we see that the contributions to the solution of the RH problem are the parts of the functions $R(\lambda)$ and $R^*(\lambda^*)$, and the others are infinitesimal at long times. Then

$$\begin{split} &\int_{\Omega} [(1-C_{b^{(3)}})^{-1}I]b^{(3)} \, d\zeta = \int_{\Omega} [(1-C_{b^{(3)}})^{-1}(1-C_{b^{(3)}}+C_{b^{(3)}})I]b^{(3)} \, d\zeta = \\ &= \int_{\Omega} b^{(3)} \, d\zeta + \int_{\Omega} [(1-C_{b^{(3)}})^{-1}C_{b^{(3)}}I]b^{(3)} \, d\zeta = \\ &= \int_{\Omega} b^{(3)} \, d\zeta + \int_{\Omega} [(1-C_{b^R})^{-1}(1-C_{b^R})(1-C_{b^{(3)}})^{-1}C_{b^{(3)}}I]b^{(3)} \, d\zeta = \\ &= \int_{\Omega} b^{(3)} \, d\zeta + \int_{\Omega} [(1-C_{b^R})^{-1}(1-C_{b^{(3)}}+C_{b^e})(1-C_{b^{(3)}})^{-1}C_{b^{(3)}}I]b^{(3)} \, d\zeta = \\ &= \int_{\Omega} b^{(3)} \, d\zeta + \int_{\Omega} [(1-C_{b^R})^{-1}C_{b^{(3)}}I]b^{(3)} \, d\zeta + \\ &+ \int_{\Omega} [(1-C_{b^R})^{-1}C_{b^e} \cdot (1-C_{b^{(3)}})^{-1}C_{b^{(3)}}I]b^{(3)} \, d\zeta. \end{split}$$

Using (2.58), we have

$$\int_{\Omega} [(1 - C_{b^{(3)}})^{-1}I]b^{(3)} d\zeta = \int_{\Omega} b^R d\zeta + \int_{\Omega} b^e d\zeta + \int_{\Omega} [(1 - C_{b^R})^{-1}C_{b^{(3)}}I]b^{(3)} d\zeta + \int_{\Omega} [(1 - C_{b^R})^{-1}C_{b^e} \cdot (1 - C_{b^{(3)}})^{-1}C_{b^{(3)}}I]b^{(3)} d\zeta.$$
(2.60)

We consider the third integral in (2.60) and write it as

$$\int_{\Omega} [(1 - C_{b^{R}})^{-1} C_{b^{(3)}} I] b^{(3)} d\zeta = \int_{\Omega} [(1 - C_{b^{R}})^{-1} (C_{b^{R}} + C_{b^{e}}) I] b^{(3)} d\zeta =
= \int_{\Omega} [(1 - C_{b^{R}})^{-1} C_{b^{e}} I] b^{(3)} d\zeta + \int_{\Omega} [(1 - C_{b^{R}})^{-1} C_{b^{R}} I] b^{e} +
+ \int_{\Omega} [(1 - C_{b^{R}})^{-1} C_{b^{e}} I] b^{R} d\zeta =
= \int_{\Omega} [(1 - C_{b^{R}})^{-1} C_{b^{e}} I] b^{(3)} d\zeta + \int_{\Omega} [(1 - C_{b^{R}})^{-1} C_{b^{R}} I] b^{e} d\zeta +
+ \int_{\Omega} [(1 - C_{b^{R}})^{-1} (1 - (1 - C_{b^{R}})) I] b^{R} d\zeta =
= \int_{\Omega} [(1 - C_{b^{R}})^{-1} C_{b^{e}} I] b^{(3)} d\zeta + \int_{\Omega} [(1 - C_{b^{R}})^{-1} C_{b^{R}} I] b^{e} d\zeta +
+ \int_{\Omega} [(1 - C_{b^{R}})^{-1} I] b^{R} d\zeta - \int_{\Omega} b^{R} d\zeta.$$
(2.61)

Substituting (2.61) in (2.60) yields

$$\int_{\Omega} [(1 - C_{b^{(3)}})^{-1}I]b^{(3)} d\zeta = \int_{\Omega} [(1 - C_{b^{R}})^{-1}I]b^{R} d\zeta + + \int_{\Omega} b^{e} d\zeta + \int_{\Omega} [(1 - C_{b^{R}})^{-1}C_{b^{e}}I]b^{(3)} d\zeta + \int_{\Omega} [(1 - C_{b^{R}})^{-1}C_{b^{R}}I]b^{e} d\zeta + + \int_{\Omega} [(1 - C_{b^{R}})^{-1}C_{b^{e}}(1 - C_{b^{(3)}})^{-1}C_{b^{(3)}}I]b^{(3)} d\zeta = = \int_{\Omega} [(1 - C_{b^{R}})^{-1}I]b^{R} d\zeta + I + II + III + IV.$$
(2.62)

Lemma 1. We have

$$(1_{\Sigma_1} - C_u^1)^{-1} = R_{\Sigma_1} (1_{\Sigma_{12}} - C_u^{12})^{-1} I_{\Sigma_1 \to \Sigma_{12}},$$
(2.63)

where Σ_1 and Σ_2 are two oriented lines in \mathbb{C} , $\Sigma_{12} = \Sigma_1 \cup \Sigma_2$, R_{Σ_1} denotes the restriction map $L^2_{\Sigma_{12}} \to L^2_{\Sigma_1}$, $I_{\Sigma_1 \to \Sigma_{12}}$ denotes the embedding $L^2_{\Sigma_1} \to L^2_{\Sigma_{12}}$, C^{12}_{u} denotes the Cauchy operator from $L^2_{\Sigma_{12}} \to L^2_{\Sigma_1}$, C^1_{u} denotes the Cauchy operator from $L^2_{\Sigma_{12}} \to L^2_{\Sigma_1}$, C^1_{u} denotes the Cauchy operator.

Proof. If $g \in L^2_{\Sigma_{12}}$, then

$$(1_{\Sigma_1} - C_{\mathbf{u}}^1)R_{\Sigma_1}g = 1_{\Sigma_1}R_{\Sigma_1}g - C_{\mathbf{u}}^1R_{\Sigma_1}g = g - C_{\mathbf{u}}^{12}g = (1_{\Sigma_{12}} - C_{\mathbf{u}}^{12})g$$

and the sought relation (2.63) follows.

Hence, for $f \in L^2_{\Sigma_1}$,

$$(1_{\Sigma_1} - C_{\mathbf{u}}^1)R_{\Sigma_1}(1_{\Sigma_{12}} - C_{\mathbf{u}}^{12})^{-1}I_{\Sigma_1 \to \Sigma_{12}}f = (1_{\Sigma_{12}} - C_{\mathbf{u}}^{12})(1_{\Sigma_{12}} - C_{\mathbf{u}}^{12})^{-1}I_{\Sigma_1 \to \Sigma_{12}}f = f.$$

Let $\Sigma_1 = \Omega/\mathbb{R}$, $\Sigma_{12} = \Omega$. By the second resolvent identity, the norm $\|(1 - C_{b^R})^{-1}\|_{L^2(\Omega/\mathbb{R})}$ is equivalent to $\|(1 - C_{b^{(3)}})^{-1}\|_{L^2(\Omega)}$. Then the operator $(1 - C_{b^R})^{-1}$ exists and is uniformly bounded as $t \to \infty$,

$$\|(1 - C_{b^R})^{-1}\|_{L^2(\Omega)} \leqslant c.$$
(2.64)

Hence follow the estimates for terms in the right-hand side of (2.62):

$$\begin{split} |\mathbf{I}| &= \left| \int_{\Omega} b^{\mathbf{e}} \, d\zeta \right| \leqslant \|b^{\mathbf{e}}\|_{L^{1}} \leqslant ct^{-l}, \\ |\mathbf{II}| &= \left| \int_{\Omega} [(1 - C_{b^{R}})^{-1} C_{b^{\mathbf{e}}} I] b^{(3)} \, d\zeta \right| \leqslant \|(1 - C_{b^{R}})^{-1} C_{b^{\mathbf{e}}} I\|_{L^{2}} \|b^{(3)}\|_{L^{2}} \leqslant \\ &\leqslant c \|b^{(3)}\|_{L^{2}} \|b^{R}\|_{L^{2}} \leqslant ct^{-l}, \\ |\mathbf{III}| &= \left| \int_{\Omega} [(1 - C_{b^{R}})^{-1} C_{b^{R}} I] b^{\mathbf{e}} \, d\zeta \right| \leqslant \|(1 - C_{b^{R}})^{-1} C_{b^{R}} I\|_{L^{2}} \|b^{\mathbf{e}}\|_{L^{2}} \leqslant ct^{-l}, \\ |\mathbf{IV}| &= \left| \int_{\Omega} [(1 - C_{b^{R}})^{-1} C_{b^{\mathbf{e}}} (1 - C_{b^{(3)}})^{-1} C_{b^{(3)}} I] b^{(3)} \, d\zeta \right| \leqslant \\ &\leqslant \|(1 - C_{b^{R}})^{-1}\|_{L^{2}} \|b^{\mathbf{e}}\|_{L^{2}} \|(1 - C_{b^{(3)}})^{-1}\|_{L^{2}} \|b^{(3)}\|_{L^{2}} \leqslant ct^{-l} \end{split}$$

(where we write $L^2 = L^2(\Omega)$ and $L^1 = L^1(\Omega)$ for brevity). It hence follows that

$$q^*(-x,t) = \frac{e^{i\theta(-x,t)}}{\pi} \left(\int_{\Omega} (1 - C_{b^R})^{-1} I(\zeta) b^R(\zeta) \, d\zeta \right)_{21} + O(t^{-l}).$$
(2.65)

2.3. Scaling transformation. Based on [25], [31], [32], [38], we introduce a scaling transformation

$$\Xi: \ \lambda - \lambda_0 = \frac{\tilde{\lambda}}{\sqrt{8t}}, \quad \Omega \to \Omega^{\Xi}.$$
(2.66)

We then have the RH problem

$$P_{+}^{(4)}(x,t;\tilde{\lambda}) = P_{-}^{(4)}(x,t;\tilde{\lambda})J^{(4)}(x,t;\tilde{\lambda}), \qquad P^{(4)}(x,t;\tilde{\lambda}) \to I, \quad \tilde{\lambda} \to \infty,$$
(2.67)

where $J^{(4)}(x,t;\tilde{\lambda}) = \Xi(J^{(3)}_{\sigma}(x,t;\lambda))$ or, explicitly,

$$J^{(4)}(x,t;\tilde{\lambda}) = (8t)^{-\frac{i\kappa}{2}} e^{2it\lambda_0^2 + i\tau_0} \cdot (-\tilde{\lambda})^{i\kappa} e^{-\frac{i\tilde{\lambda}^2}{4} + \tau(\tilde{\lambda}) - i\tau_0} = \Xi_1 \cdot \Xi_2,$$
(2.68)

where κ and τ ($\tau_0 = \tau(0)$) are obtained from Eq. (2.26). As a result, we have

$$P^{(4)}(\tilde{\lambda}) = \Xi(P^{(3)}(\lambda)) = I + \Xi(P_1^{(3)}(\lambda)) + \Xi(P_2^{(3)}(\lambda)) + \cdots,$$
(2.69)

whence $P_1^{(4)}(\tilde{\lambda}) = P_1^{(3)}(\lambda)\sqrt{8t}$.

Then, the solution of nonlocal Kundu–NLS equation (1.3) can be expressed as

$$-q^*(x,t)e^{-i\theta(-x,t)} = 2i(P_1^{(4)}(\tilde{\lambda}))_{12}\frac{1}{\sqrt{8t}} + O(t^{-l}) = \frac{i}{\sqrt{2t}}(P_1^{(4)}(\tilde{\lambda}))_{12} + O(t^{-l}).$$
(2.70)

With the jump matrix $J^{(4)}(x,t;\tilde{\lambda})$ in (2.68), we see that Ξ_1 is independent of $\tilde{\lambda}$, and therefore the transformation $P^{(5)}(x,t;\tilde{\lambda}) = \Xi_1^{-\operatorname{ad} \sigma_3} P^{(4)}(x,t;\tilde{\lambda})$ gives a RH problem on Ω_{Ξ_1} (see Fig. 4),

$$P_{+}^{(5)}(x,t;\tilde{\lambda}) = P_{-}^{(5)}(x,t;\tilde{\lambda})J^{(5)}(x,t;\tilde{\lambda}), \qquad P^{(5)}(x,t;\tilde{\lambda}) \to I, \quad \tilde{\lambda} \to \infty,$$
(2.71)

where $J^{(5)}(x,t;\tilde{\lambda}) = \Xi_2^{\operatorname{ad} \sigma_3}(\hat{b}_-)^{-1}\hat{b}_+$ and $\hat{b}_{\pm} = I \pm b_{\pm}^R$.



Fig. 4. The contours $\Omega_{\Xi_1(\tilde{\lambda})}$.

On one hand, for $\tilde{\lambda} \in \{\tilde{\lambda} = \mu e^{\pm 3\pi i/4}, \mu \in \mathbb{R}\}$, we have

$$\hat{b}_{+}(\tilde{\lambda}) = \begin{pmatrix} 0 & \Xi(R(\tilde{\lambda})) \\ 0 & 0 \end{pmatrix}, \qquad \hat{b}_{-}(\tilde{\lambda}) = \begin{pmatrix} 0 & 0 \\ \Xi(R^{*}(\tilde{\lambda}^{*})) & 0 \end{pmatrix}.$$
(2.72)

On the other hand, as $t \to \infty$, we obtain the RH problem with a phase point, which suggests that

$$\Xi_2 = (-\tilde{\lambda})^{i\kappa} e^{\tau \left(\frac{\tilde{\lambda}}{\sqrt{8t}} + \lambda_0\right) - \tau(\lambda_0)} e^{\frac{-i\tilde{\lambda}^2}{4}} \to (-\tilde{\lambda})^{i\kappa} e^{\frac{-i\tilde{\lambda}^2}{4}}, \qquad (2.73)$$

and

$$\lim_{t \to \infty} \left(H_1 \left(\frac{\lambda}{\sqrt{8t}} + \lambda_0 \right) \right) = H_1(\lambda_0),$$

$$\lim_{t \to \infty} \left(\frac{H_1}{1 + \sigma H_1 H_2} \left(\frac{\tilde{\lambda}}{\sqrt{8t}} + \lambda_0 \right) \right) = \frac{H_1(\lambda_0)}{1 + \sigma H_1(\lambda_0) H_2(\lambda_0)},$$

$$\lim_{t \to \infty} \left(\sigma H_2 \left(\frac{\tilde{\lambda}}{\sqrt{8t}} + \lambda_0 \right) \right) = \sigma H_2(\lambda_0),$$

$$\lim_{t \to \infty} \left(\frac{\sigma H_2}{1 + \sigma H_1 H_2} \left(\frac{\tilde{\lambda}}{\sqrt{8t}} + \lambda_0 \right) \right) = \frac{\sigma H_2(\lambda_0)}{1 + \sigma H_1(\lambda_0) H_2(\lambda_0)}.$$
(2.74)

We thus arrive at the RH problem on the contour Ω_{Ξ_2} (see Fig. 5),

$$P_{+}^{(6)}(x,t;\tilde{\lambda}) = P_{-}^{(6)}(x,t;\tilde{\lambda})J^{(6)}(x,t;\tilde{\lambda}), \qquad P^{(6)}(x,t;\tilde{\lambda}) \to I, \quad \tilde{\lambda} \to \infty,$$
(2.75)

where $J^{(6)}(x,t;\tilde{\lambda}) = (-\tilde{\lambda})^{i\kappa \operatorname{ad} \sigma_3} e^{\frac{-i\tilde{\lambda}^2}{4} \operatorname{ad} \sigma_3}$ is given as follows:

$$\begin{split} \tilde{\lambda} &\in \Omega_{\Xi_{2}}^{(1)} \colon \qquad \check{b}_{+} = \begin{pmatrix} 1 & 0 \\ H_{1}(\lambda_{0}) & 1 \end{pmatrix}, \\ \tilde{\lambda} &\in \Omega_{\Xi_{2}}^{(2)} \colon \qquad \check{b}_{+} = \begin{pmatrix} 1 & \frac{\sigma H_{2}(\lambda_{0})}{1 + \sigma H_{1}(\lambda_{0})H_{2}(\lambda_{0})} \\ 0 & 1 \end{pmatrix}, \\ \tilde{\lambda} &\in \Omega_{\Xi_{2}}^{(3)} \colon \qquad (\check{b}_{-})^{-1} = \begin{pmatrix} 1 & 0 \\ \frac{H_{1}(\lambda_{0})}{1 + \sigma H_{1}(\lambda_{0})H_{2}(\lambda_{0})} & 1 \end{pmatrix}, \\ \tilde{\lambda} &\in \Omega_{\Xi_{2}}^{(4)} \colon \qquad (\check{b}_{-})^{-1} = \begin{pmatrix} 1 & \sigma H_{2}(\lambda_{0}) \\ 0 & 1 \end{pmatrix}. \end{split}$$



Fig. 5. The contour Ω_{Ξ_2} .

According to [17], [25], [30], [32], [38], the jump matrices $J^{(5)}(x,t;\tilde{\lambda})$ and $J^{(6)}(x,t;\tilde{\lambda})$ satisfy the norm relation

$$\|J^{(5)}(x,t;\tilde{\lambda}) - J^{(6)}(x,t;\tilde{\lambda})\|_{L^1 \cap L^{\infty}(\Omega_{\Xi_2})} \leqslant \begin{cases} ct^{-1+2|\operatorname{Im}\kappa(\lambda_0)|}, & \operatorname{Im}\kappa(\lambda_0) > 0, \\ ct^{-1}\log t, & \operatorname{Im}\kappa(\lambda_0) = 0, \\ t^{-1}, & \operatorname{Im}\kappa(\lambda_0) < 0, \end{cases}$$

whence the solution of nonlocal Kundu–NLS equation (1.3) can be given as

$$-q^*(x,t)e^{-i\theta(-x,t)} = \frac{i}{\sqrt{2t}}(\Xi_1)^2 (P_1^{(6)}(x,t;\tilde{\lambda}))_{12} + \begin{cases} O(ct^{-1+2|\operatorname{Im}\kappa(\lambda_0)|}), & \operatorname{Im}\kappa(\lambda_0) > 0, \\ O(ct^{-1}\log t), & \operatorname{Im}\kappa(\lambda_0) = 0, \\ O(t^{-1}), & \operatorname{Im}\kappa(\lambda_0) < 0, \end{cases}$$

where $P_1^{(6)}(x,t;\tilde{\lambda})$ can be obtained by the expansion of $P^{(6)}(x,t;\tilde{\lambda})$.

Next, we introduce a transformation

$$P^{(7)}(x,t;\tilde{\lambda}) = P^{(6)}(x,t;\tilde{\lambda})F^{-1},$$
(2.76)

where \digamma is defined as

$$F = \begin{cases} (-\tilde{\lambda})^{-i\kappa \operatorname{ad} \sigma_3}, & \tilde{\lambda} \in \Omega_F^{(2)} \cup \Omega_F^{(5)}, \\ (-\tilde{\lambda})^{-i\kappa \operatorname{ad} \sigma_3} (b_+^F)^{-1}, & \tilde{\lambda} \in \Omega_F^{(1)} \cup \Omega_F^{(3)}, \\ (-\tilde{\lambda})^{-i\kappa \operatorname{ad} \sigma_3} (b_-^F)^{-1}, & \tilde{\lambda} \in \Omega_F^{(4)} \cup \Omega_F^{(6)}, \end{cases}$$
(2.77)

and the domains $\Omega_F^{(i)}$ and contours F^i are shown in Fig. 6. We then have

$$b_{+}^{F} = \begin{cases} (-\tilde{\lambda})^{-i\kappa \operatorname{ad} \sigma_{3}} e^{-\frac{i\tilde{\lambda}^{2}}{4} \operatorname{ad} \sigma_{3}} \begin{pmatrix} 1 & 0 \\ H_{1}(\lambda_{0}) & 1 \end{pmatrix}, & \tilde{\lambda} \in \Omega_{F}^{(1)}, \\ \\ (-\tilde{\lambda})^{-i\kappa \operatorname{ad} \sigma_{3}} e^{-\frac{i\tilde{\lambda}^{2}}{4} \operatorname{ad} \sigma_{3}} \begin{pmatrix} 1 & \frac{\sigma H_{2}(\lambda_{0})}{1 + \sigma H_{1}(\lambda_{0})H_{2}(\lambda_{0})} \\ 0 & 1 \end{pmatrix}, & \tilde{\lambda} \in \Omega_{F}^{(3)}, \\ \\ (b_{-}^{F})^{-1} = \begin{cases} (-\tilde{\lambda})^{-i\kappa \operatorname{ad} \sigma_{3}} e^{-\frac{i\tilde{\lambda}^{2}}{4} \operatorname{ad} \sigma_{3}} \begin{pmatrix} 1 & 0 \\ \frac{H_{1}(\lambda_{0})}{1 + \sigma H_{1}(\lambda_{0})H_{2}(\lambda_{0})} & 1 \end{pmatrix}, & \tilde{\lambda} \in \Omega_{F}^{(4)}, \\ \\ \\ (-\tilde{\lambda})^{-i\kappa \operatorname{ad} \sigma_{3}} e^{-\frac{i\tilde{\lambda}^{2}}{4} \operatorname{ad} \sigma_{3}} \begin{pmatrix} 1 & \sigma H_{2}(\lambda_{0}) \\ 0 & 1 \end{pmatrix}, & \tilde{\lambda} \in \Omega_{F}^{(6)}. \end{cases}$$



Fig. 6. Domains Ω_F^i and contours F^i .

It hence follows that $P^{(7)}(x,t;\tilde{\lambda})$ satisfies the RH problem

$$P_{+}^{(7)}(x,t;\tilde{\lambda}) = P_{-}^{(7)}(x,t;\tilde{\lambda})J^{(7)}(x,t;\tilde{\lambda}), \qquad P^{(7)}(x,t;\tilde{\lambda}) \to I, \quad \tilde{\lambda} \to \infty,$$

$$J^{(7)}(x,t;\tilde{\lambda}) = \begin{cases} e^{-\frac{i\tilde{\lambda}^{2}}{4} \operatorname{ad} \sigma_{3}} \begin{pmatrix} 1 + \sigma H_{1}(\lambda_{0})H_{2}(\lambda_{0}) & \sigma H_{2}(\lambda_{0}) \\ H_{1}(\lambda_{0}) & 1 \end{pmatrix}^{-1}, \quad \tilde{\lambda} \in \mathbb{R}, \\ I, \qquad \qquad \tilde{\lambda} \in F^{1} \cup F^{2} \cup F^{3} \cup F^{4}. \end{cases}$$
(2.78)

By transformation (2.76), the formula $\mathcal{F}^{-1}(-\tilde{\lambda})^{-i\kappa \operatorname{ad} \sigma_3}$ can be expressed as

$$F^{-1}(-\tilde{\lambda})^{-i\kappa \operatorname{ad} \sigma_3} = I + O\left(\frac{1}{\tilde{\lambda}}\right), \qquad \tilde{\lambda} \to \infty,$$
(2.79)

and therefore

$$P^{(7)}(x,t;\tilde{\lambda}) = P^{(6)}(x,t;\tilde{\lambda})F^{-1} = P^{(6)}(F^{-1}(-\tilde{\lambda})^{-i\kappa\sigma_3})(-\tilde{\lambda})^{-i\kappa\sigma_3} =$$
$$= \left(I + \frac{P_1^{(6)}}{\tilde{\lambda}} + O\left(\frac{1}{\tilde{\lambda}^2}\right)\right) \left(I + O\left(\frac{1}{\tilde{\lambda}}\right)\right)(-\tilde{\lambda})^{-i\kappa\sigma_3} =$$
$$= \left(I + \frac{P_1^{(6)}}{\tilde{\lambda}} + \frac{P_2^{(6)}}{\tilde{\lambda}^2} + \cdots\right)(-\tilde{\lambda})^{-i\kappa\sigma_3}.$$

Let $P^{(8)}(x,t;\tilde{\lambda}) = P^{(7)}(x,t;\tilde{\lambda})e^{-\frac{i\tilde{\lambda}^2}{4}\sigma_3}$. It then follows that $P^{(8)}(x,t;\tilde{\lambda})$ satisfies the RH problem

$$P_{+}^{(8)}(x,t;\tilde{\lambda}) = P_{-}^{(8)}(x,t;\tilde{\lambda})J^{(8)}(x,t;\tilde{\lambda}), \qquad P^{(8)}e^{\frac{i\tilde{\lambda}^{2}}{4}\sigma_{3}}(-\tilde{\lambda})^{-i\kappa\sigma_{3}} \to I, \quad \tilde{\lambda} \to \infty,$$

$$J^{(8)}(x,t;\lambda_{0}) = \begin{pmatrix} 1 + \sigma H_{1}(\lambda_{0})H_{2}(\lambda_{0}) & \sigma H_{2}(\lambda_{0}) \\ H_{1}(\lambda_{0}) & 1 \end{pmatrix}.$$
(2.80)

Theorem 1. If the spectral functions are defined by Eqs. (2.10), the long-time asymptotics of the solution of the nonlocal Kundu–NLS equation (1.3) with a decaying initial value $q_0(x)$ are given by

$$q^{*}(-x,t) = t^{-1/2 + \operatorname{Im} \xi(\lambda_{0})} \frac{\pi e^{\frac{\pi i - 2\pi\kappa}{4} + i\theta(-x,t)}}{H_{1}(\lambda_{0})\Gamma(-a)} + \begin{cases} O(ct^{-1+2|\operatorname{Im} \kappa(\lambda_{0})|}), & \operatorname{Im} \kappa(\lambda_{0}) > 0, \\ O(ct^{-1}\log t), & \operatorname{Im} \kappa(\lambda_{0}) = 0, \\ O(t^{-1}), & \operatorname{Im} \kappa(\lambda_{0}) < 0, \end{cases}$$
(2.81)

where $\Gamma(\cdot)$ is the Gamma function.

Appendix: Proof of Theorem 1

To solve the nonlocal Kundu–NLS equation with a decaying initial value, we use the Weber equation and the standard parabolic cylinder function. From the equalities

$$\frac{d}{d\tilde{\lambda}}P_{+}^{(8)} = \frac{d}{d\tilde{\lambda}}P_{-}^{(8)}J^{(8)}(\lambda_{0}), \qquad \frac{1}{2}i\tilde{\lambda}\sigma_{3}P_{+}^{(8)} = \frac{1}{2}i\tilde{\lambda}\sigma_{3}P_{-}^{(8)}J^{(8)}(\lambda_{0})$$

we have

$$\left(\partial_{\tilde{\lambda}}P^{(8)} + \frac{1}{2}i\tilde{\lambda}\sigma_{3}P^{(8)}\right)_{+} = \left(\partial_{\tilde{\lambda}}P^{(8)} + \frac{1}{2}i\tilde{\lambda}\sigma_{3}P^{(8)}\right)_{-}J^{(8)}(\lambda_{0}).$$
(A.1)

Obviously, because $J^{(8)}(\lambda_0) = 1$, it follows that det $P_{\pm}^{(8)} = 1$ for $\tilde{\lambda} \in \mathbb{R}$. Thus, based on the Painlevé's expansion theorem, we see that det $P^{(8)}$ is analytic and bounded on \mathbb{C} . Furthermore,

$$\left[\left(\partial_{\tilde{\lambda}} P^{(8)} + \frac{1}{2} i \tilde{\lambda} \sigma_3 P^{(8)} \right) (P^{(8)})^{-1} \right]_+ = \left(\partial_{\tilde{\lambda}} P^{(8)} + \frac{1}{2} i \tilde{\lambda} \sigma_3 P^{(8)} \right)_- J^{(8)}(\lambda_0) (J^{(8)}(\lambda_0))^{-1} (P_-^{(8)})^{-1} = \\ = \left[\left(\partial_{\tilde{\lambda}} P^{(8)} + \frac{1}{2} i \tilde{\lambda} \sigma_3 P^{(8)} \right) (P^{(8)})^{-1} \right]_-$$
(A.2)

is also analytic and bounded on \mathbb{C} . From the expression

$$\left(\partial_{\tilde{\lambda}}P^{(8)} + \frac{1}{2}i\tilde{\lambda}\sigma_{3}P^{(8)}\right)(P^{(8)})^{-1} = \frac{1}{2}i\tilde{\lambda}[\sigma_{3}, P^{(8)}] = \frac{1}{2}i[\sigma_{3}, P_{1}^{(7)}] + O\left(\frac{1}{\tilde{\lambda}}\right),\tag{A.3}$$

by the Liouville theorem we see that

$$\left(\partial_{\tilde{\lambda}}P^{(8)} + \frac{1}{2}i\tilde{\lambda}\sigma_3 P^{(8)}\right)(P^{(8)})^{-1} = \begin{pmatrix}\Theta_{11} & \Theta_{12}\\\Theta_{21} & \Theta_{22}\end{pmatrix}\tag{A.4}$$

is a constant matrix. Comparing formulas (A.2) and (A.4), we have

$$i(P_1^{(7)})_{12} = \Theta_{12}, \qquad -i(P_1^{(7)})_{21} = \Theta_{21}, \qquad \Theta_{11} = \Theta_{22} = 0,$$
 (A.5)

and hence the solution of nonlocal Kundu-NLS equation (1.3) can be written as

$$u(x,y) = -\frac{1}{\sqrt{2t}} (\Xi_1)^2 \Theta_{21} + O\left(\frac{\log t}{t}\right).$$
(A.6)

From (A.4), we have the system of equations

$$\frac{dP_{11}^{(8)}}{d\tilde{\lambda}} + \frac{1}{2}i\tilde{\lambda}P_{11}^{(8)} = \Theta_{12}P_{21}^{(8)}, \qquad \frac{dP_{21}^{(8)}}{d\tilde{\lambda}} - \frac{1}{2}i\tilde{\lambda}P_{21}^{(8)} = \Theta_{21}P_{11}^{(8)}.$$
(A.7)

which reduces to a single equation

$$\frac{dP_{11}^{(8)}}{d\tilde{\lambda}} = \left(-\frac{\tilde{\lambda}^2}{4} - \frac{1}{2}i + \Theta_{12}\Theta_{21}\right)P_{11}^{(8)}.$$
(A.8)

For $\operatorname{Im} \tilde{\lambda} > 0$, let

$$(P^{(8)})^{+} = \begin{pmatrix} (P^{(8)})^{+}_{11} & (P^{(8)})^{+}_{12} \\ (P^{(8)})^{+}_{21} & (P^{(8)})^{+}_{22} \end{pmatrix}.$$

Then Eq. (A.8) can be rewritten in the form

$$\frac{d(P^{(8)})_{11}^+}{d\tilde{\lambda}} = \left(-\frac{\tilde{\lambda}^2}{4} - \frac{1}{2}i + \Theta_{12}\Theta_{21}\right)(P^{(8)})_{11}^+,\tag{A.9}$$

which is called the Weber equation. It has two linearly independent solutions $D_a(\zeta)$ and $D_a(-\zeta)$ called the parabolic cylinder functions,

$$(P^{(8)})_{11}^+ = c_1 D_a(\zeta) + c_2 D_a(-\zeta), \tag{A.10}$$

where $\zeta = \tilde{\lambda} e^{-3i\pi/4}$, c_1, c_2 are constants.

The parabolic cylinder functions $D_a(\zeta)$ have the following asymptotic property as $\zeta \to \infty$: for $|\arg \zeta| < 3\pi/4$,

$$D_a(\zeta) = \zeta^2 e^{-\zeta^2/4} + \zeta^2 e^{-\zeta^2/4} O(\zeta^{-2});$$

for $\pi/4 < \arg \zeta < 5\pi/4$,

$$D_a(\zeta) = \zeta^2 e^{-\zeta^2/4} [1 + O(\zeta^{-2})] - \sqrt{2\pi} \Gamma^{-1}(-a) e^{ai\pi} \zeta^{-1-a} e^{\zeta^2/4} (1 + O(\zeta^{-2}));$$

and for $-5\pi/4 < \arg \zeta < -\pi/4$,

$$D_a(\zeta) = \zeta^2 e^{-\zeta^2/4} [1 + O(\zeta^{-2})] - \sqrt{2\pi} \Gamma^{-1}(-a) e^{-ai\pi} \zeta^{-1-a} e^{\zeta^2/4} (1 + O(\zeta^{-2})).$$

Thus,

$$(P^{(8)})_{11}^+(\tilde{\lambda}) = e^{-3\pi\kappa/4} D_a(\tilde{\lambda}e^{-3i/4}),$$

$$(P^{(8)})_{21}^+(\tilde{\lambda}) = \frac{1}{\Theta_{12}} e^{-3\pi\kappa/4} \left(\partial_{\tilde{\lambda}} D_a\left(\tilde{\lambda}e^{-3i/4}\right) + \frac{i\tilde{\lambda}}{2} D_a\left(\tilde{\lambda}e^{-3i/4}\right) \right),$$
(A.11)

Similarly, for $\operatorname{Im} \tilde{\lambda} < 0$, let

$$(P^{(8)})^{-} = \begin{pmatrix} (P^{(8)})^{-}_{11} & (P^{(8)})^{-}_{12} \\ (P^{(8)})^{-}_{21} & (P^{(8)})^{-}_{22} \end{pmatrix}.$$

Then

$$(P^{(8)})_{11}^{-}(\tilde{\lambda}) = e^{\pi\kappa/4} D_a(\tilde{\lambda}e^{i/4}),$$

$$(P^{(8)})_{21}^{-}(\tilde{\lambda}) = \frac{1}{\Theta_{12}} e^{\pi\kappa/4} \left(\partial_{\tilde{\lambda}} D_a(\tilde{\lambda}e^{i/4}) + \frac{i\tilde{\lambda}}{2} D_a(\tilde{\lambda}e^{i/4}) \right).$$
(A.12)

From the RH problem (2.80), we then have

$$\begin{pmatrix} 1 + \sigma H_1(\lambda_0) H_2(\lambda_0) & \sigma H_2(\lambda_0) \\ H_1(\lambda_0) & 1 \end{pmatrix} = \begin{pmatrix} (P^{(8)})_{11}^- & (P^{(8)})_{12}^- \\ (P^{(8)})_{21}^- & (P^{(8)})_{22}^- \end{pmatrix}^{-1} \begin{pmatrix} (P^{(8)})_{11}^+ & (P^{(8)})_{12}^+ \\ (P^{(8)})_{21} & (P^{(8)})_{22}^+ \end{pmatrix},$$
(A.13)

whence

$$H_1(\lambda_0) = -(P^{(8)})_{21}^- (P^{(8)})_{11}^+ + (P^{(8)})_{11}^- (P^{(8)})_{21}^+ = \frac{\sqrt{2\pi}e^{(i\pi - 2\pi\kappa)/4}}{\Theta_{21}\Gamma(-a)}.$$
 (A.14)

Conflicts of interest. The authors declare no conflicts of interest.

REFERENCES

- C. M. Bender and S. Boettcher, "Real spectra in non-Hermitian Hamiltonians having *PT* symmetry," *Phys. Rev. Lett.*, **80**, 5243–5246 (1998), arXiv: physics/9712001.
- R. El-Ganainy, K. G. Makris, D. N. Christodoulides, and Z. H. Musslimani, "Theory of coupled optical PTsymmetric structures," Opt. Lett., 32, 2632–2634 (2007).
- K. G. Makris, R. El-Ganainy, D. N. Christodoulides, and Z. H. Musslimani, "Beam dynamics in *PT* symmetric optical lattices," *Phys. Rev. Lett.*, 100, 103904, 4 pp. (2008).
- A. Guo, G. Salamo, D. Duchesne, R. Morandotti, M. Volatier-Ravat, V. Aimez, G. Siviloglou, and D. N. Christodoulides, "Observation of *PT*-symmetry breaking in complex optical potentials," *Phys. Rev. Lett.*, **103**, 093902, 4 pp. (2009).
- H. Cartarius and G. Wunner, "Model of a *PT*-symmetric Bose–Einstein condensate in a δ-function double-well potential," *Phys. Rev. A*, 86, 013612, 5 pp. (2012), arXiv: 1203.1885.
- J. Schindler, A. Li, M. C. Zheng, F. M. Ellis, and T. Kottos, "Experimental study of active LRC circuits with *PT* symmetries," *Phys. Rev. A*, 84, 040101, 5 pp. (2011).
- T. A. Gadzhimuradov and A. M. Agalarov, "Towards a gauge-equivalent magnetic structure of the nonlocal nonlinear Schrödinger equation," *Phys. Rev. A*, 93, 062124, 6 pp. (2011).
- D. R. Nelson and N. M. Shnerb, "Non-Hermitian localization and population biology," *Phys. Rev. E.*, 58, 1383–1403 (1998), arXiv:cond-mat/9708071.
- M. J. Ablowitz and Z. H. Musslimani, "Integrable nonlocal nonlinear Schrödinger equation," *Phys. Rev. Lett.*, 110, 064105, 5 pp. (2013).
- J.-L. Ji and Z.-N. Zhu, "On a nonlocal modified Korteweg-de Vries equation: Integrability, Darboux transformation and soliton solutions," *Commun. Nonlinear Sci. Numer. Simul.*, 42, 699–708 (2017).
- A. S. Fokas, "Integrable multidimensional versions of the nonlocal nonlinear Schrödinger equation," *Nonlinearity*, 29, 319–324 (2016).
- M. J. Ablowitz and Z. H. Musslimani, "Integrable nonlocal nonlinear equations," Stud. Appl. Math., 139, 7–59 (2016), arXiv: 1610.02594.
- D.-F. Bian, B.-L. Guo, and L.-M. Ling, "High-order soliton solution of Landau–Lifshitz equation," Stud. Appl. Math., 134, 181–214 (2015).
- A.-Y. Chen, W.-J. Zhu, Z.-J. Qiao, and W.-T. Huang, "Algebraic traveling wave solutions of a non-local hydrodynamic-type model," *Math. Phys. Anal. Geom.*, 17, 465–482 (2014).
- X. Shi, J. Li, and C. Wu, "Dynamics of soliton solutions of the nonlocal Kundu-nonlinear Schrödinger equation," Chaos, 29, 023120, 12 pp. (2019).
- Ya. Rybalko and D. Shepelsky, "Long-time asymptotics for the integrable nonlocal nonlinear Schrödinger equation with step-like initial data," J. Differ. Equ., 270, 694–724 (2021).
- Ya. Rybalko and D. Shepelsky, "Long-time asymptotics for the integrable nonlocal nonlinear Schrödinger equation," J. Math. Phys., 60, 031504, 16 pp. (2019), arXiv: 1710.07961.
- 18. S. V. Manakov, "Nonlinear Fraunhofer diffraction," Sov. Phys. JETP., 38, 693-696 (1974).
- M. J. Ablowitz and A. C. Newell, "The decay of the continuous spectrum for solutions of the Korteweg–de Vries equation," J. Math. Phys., 14, 1277–1284 (1973).
- V. E. Zakharov and S. V. Manakov, "Asymptotic behavior of nonlinear wave systems integrated by the inverse scattering method," Sov. Phys. JETP., 44, 106–112 (1976).
- A. R. Its, "Asymptotics of solutions of the nonlinear Schrödinger equation and isomonodromic deformations of systems of linear differential equations," Sov. Math. Dokl., 24, 452–456 (1981).
- R. Beals and R. R. Coifman, "Scattering and inverse scattering for first order systems," Commun. Pure Appl. Math., 37, 39–90 (1981).
- R. Buckingham and S. Venakides, "Long-time asymptotics of the nonlinear Schrödinger equation shock problem," Comm. Pure Appl. Math., 60, 1349–1414 (2007).
- A. Boutet de Monvel, A. Its, and V. Kotlyarov, "Long-time asymptotics for the focusing NLS equation with time-periodic boundary condition on the half-line," *Commun. Math. Phys.*, 290, 479–522 (2009).

- P. Deift and X. Zhou, "A steepest descent method for oscillatory Riemann-Hilbert problems," Ann. Math., 137, 295–368 (1993).
- P. Deift, S. Venakides, and X. Zhou, "New results in small dispersion KdV by an extension of the steepest descent method for Riemann-Hilbert problems," *Int. Math. Res. Notices*, **1997**, 285–299 (1997).
- P. Deift and J. Park, "Long-time asymptotics for solutions of the NLS equation with a delta potential and even initial data," *Int. Math. Res. Notices*, 2011, 5505–5624 (2011).
- A. H. Vartanian, "Long-time asymptotics of solutions to the Cauchy problem for the defocusing nonlinear Schrödinger equation with finite-density initial data. II. Dark solitons on continua," *Math. Phys. Anal. Geom.*, 5, 319–413 (2002).
- A. Boutet de Monvel, A. Kostenko, D. Shepelsky, and G. Teschl, "Long-time asymptotics for the Camassa-Holm equation," SIAM J. Math. Anal., 41, 1559–1588 (2009).
- 30. D.-S. Wang and X. Wang, "Long-time asymptotics and the bright N-soliton solutions of the Kundu–Eckhaus equation via the Riemann–Hilbert approach," Nonlinear Anal. Real World Appl., **41**, 334–361 (2018).
- W.-X. Ma, "Long-time asymptotics of a three-component coupled nonlinear Schrödinger system," J. Geom. Phys., 153, 103669, 28 pp. (2020).
- J. Xu and E. Fan, "Long-time asymptotics for the Fokas-Lenells equation with decaying initial value problem: without solitons," J. Differ. Equ., 259, 1098–1148 (2015).
- J. Xu and E. G. Fan, "A Riemann-Hilbert approach to the initial-boundary problem for derivative nonlinear Schrödinger equation," Acta Math. Sci., 34, 973–994 (2014).
- J. Lenells, "The nonlinear steepest descent method for Riemann-Hilbert problems of low regularity," Indiana Univ. Math. J., 66, 1287–1332 (2017).
- J. Lenells, "Nonlinear Fourier transforms and the mKdV equation in the quarter plane," Stud. Appl. Math., 136, 3–63 (2016).
- X.-G. Geng, M.-M. Chen, and K.-D. Wang, "Long-time asymptotics of the coupled modified Korteweg–de Vries equation," J. Geom. Phys., 142, 151–167 (2019).
- M. J. Ablowitz and Z. H. Musslimani, "Inverse scattering transform for the integrable nonlocal nonlinear Schrödinger equation," *Nonlinearity*, 29, 915–946 (2016).
- X.-G. Geng, K.-D. Wang, and M.-M. Chen, "Long-time asymptotics for the spin-1 Gross-Pitaevskii equation," Commun. Math. Phys., 382, 585–611 (2021).